

**The Complete Set of Non-negative Integer
Solutions for the Diophantine Equation**
 $(pq)^{2x} + p^y = z^2$, where p, q, x, y, z are
non-negative integers with p prime and $p \nmid q$

Umarin Pintoptang¹, Suton Tadee²

¹Department of Mathematics
Faculty of Science
Naresuan University
Phitsanulok 65000, Thailand

²Department of Mathematics
Faculty of Science and Technology
Thepsatri Rajabhat University
Lopburi 15000, Thailand

email: umarinp@nu.ac.th, suton.t@lawasri.tru.ac.th

(Received November 7, 2022, Accepted December 23, 2022,
Published January 23, 2023)

Abstract

In this article, we give the complete set of non-negative integer solutions for the Diophantine equation $(pq)^{2x} + p^y = z^2$, where p, q, x, y, z are non-negative integers with p prime and $p \nmid q$.

1 Introduction

Many researchers have recently studied the Diophantine equation of type $p^x + q^y = z^2$, where p, q are primes and x, y, z are non-negative integers (see,

Key words and phrases: Diophantine equation, Mihăilescu's Theorem

AMS (MOS) Subject Classifications: 11D61.

The corresponding author is Suton Tadee.

ISSN 1814-0432, 2023, <http://ijmcs.future-in-tech.net>

for instance, [1], [2], [3], [4], [5], [7], [8], [9], [10]). In this article, we give the complete set of non-negative integer solutions for the Diophantine equation

$$(pq)^{2x} + p^y = z^2 \quad (1.1)$$

where p, q, x, y, z are non-negative integers with p prime and $p \nmid q$. From (1.1), we have $p^y = (z - (pq)^x)(z + (pq)^x)$. Since p is prime, there exists a non-negative integer u such that

$$z - (pq)^x = p^u \quad (1.2)$$

and

$$z + (pq)^x = p^{y-u}. \quad (1.3)$$

Since (1.2), (1.3) and $z - (pq)^x < z + (pq)^x$, we get $y > 2u$ and

$$2(pq)^x = p^u (p^{y-2u} - 1). \quad (1.4)$$

2 Main results

We start this section with the following famous and helpful theorem:

Theorem 2.1. [6] (*Mihăilescu's Theorem*) $(a, b, x, y) = (3, 2, 2, 3)$ is the only one non-negative integer solution of the Diophantine equation $a^x - b^y = 1$, where a, b, x, y are integers with $\min\{a, b, x, y\} > 1$.

In the first part, we focus on finding all non-negative integer solutions of (1.1) when $p = 2$.

Theorem 2.2. Let p, q, x, y, z be non-negative integers with p prime and $p \nmid q$. If $p = 2$, then the Diophantine equation (1.1) has non-negative integer solutions

$$(p, q, x, y, z) \in \{(2, q, 0, 3, 3), (2, 1, x, 2x + 3, 3 \cdot 2^x), (2, 2^{y-4} - 1, 1, y, 2^{y-3} + 2)\}.$$

Proof. Since $p = 2$, by (1.4) we see that $2^{x+1}q^x = 2^u(2^{y-2u} - 1)$. Since $2 \nmid q$, we get $u = x + 1$ and so

$$2^{y-2u} - q^x = 1. \quad (2.5)$$

Case 1. $x = 0$. Then $u = 1$. From (2.5), we obtain $2^{y-2} = 2$. This implies that $y = 3$. From (1.2), we have $z = 3$ and so $(p, q, x, y, z) = (2, q, 0, 3, 3)$.

Case 2. $x = 1$. Then $u = 2$. From (2.5) and (1.2), we get $q = 2^{y-4} - 1$ and $z = 2^{y-3} + 2$, respectively. Thus $(p, q, x, y, z) = (2, 2^{y-4} - 1, 1, y, 2^{y-3} + 2)$.

Case 3. $x > 1$. Since $2 \nmid q$, $q \geq 1$. We consider the following cases:

Subcase 3.1: $q = 1$. From (2.5), we get $y - 2u = 1$ and so $y = 2x + 3$. From (1.2), we have $z = 3 \cdot 2^x$. Then $(p, q, x, y, z) = (2, 1, x, 2x + 3, 3 \cdot 2^x)$.

Subcase 3.2: $q > 1$. Assuming that $y - 2u = 1$, from (2.5), we get $x = 0$, a contradiction. Thus $y - 2u > 1$ and so $\min\{2, q, y - 2u, x\} > 1$. This is impossible by (2.5) and Theorem 2.1. \square

Corollary 2.3. *Let p, q, x, y, z be non-negative integers with p and q distinct primes. If $p = 2$ and y is even, then the Diophantine equation (1.1) has only one non-negative integer solution $(p, q, x, y, z) = (2, 3, 1, 6, 10)$.*

Proof. Since y is even and using Theorem 2.2, $q = 2^{y-4} - 1$, $x = 1$ and $z = 2^{y-3} + 2$. Set $y = 2k$, for some non-negative integer k . Then $q = 2^{2k-4} - 1 = (2^{k-2} - 1)(2^{k-2} + 1)$. Since q is prime, $2^{k-2} - 1 = 1$ and $2^{k-2} + 1 = q$. Thus $k = 3$ and $q = 3$. Therefore, $y = 6$ and $z = 10$. Consequently, $(p, q, x, y, z) = (2, 3, 1, 6, 10)$. \square

In the second part, we investigate all non-negative integer solutions of (1.1) when $q = 2$.

Theorem 2.4. *Let p, q, x, y, z be non-negative integers with p prime and $p \nmid q$. If $q = 2$, then the Diophantine equation (1.1) has non-negative integer solutions*

$$(p, q, x, y, z) \in \{(3, 2, 2, 6, 45), (1 + 2^{x+1}, 2, x, 1 + 2x, (1 + 2^{x+1})^x (1 + 2^x))\}.$$

Proof. Since $q = 2$, by (1.4) we see that $2^{x+1}p^x = p^u(p^{y-2u} - 1)$. Since p is prime and $p \nmid 2$, we have $u = x$ and so

$$p^{y-2u} - 2^{x+1} = 1. \tag{2.6}$$

Case 1. $x = 0$. Then $u = 0$. From (2.6), we get $p^y = 3$. This implies $p = 3$ and $y = 1$. From (1.2), we have $z = 2$. Thus $(p, q, x, y, z) = (3, 2, 0, 1, 2)$.

Case 2. $x > 0$. We consider the following two subcases:

Subcase 2.1: $y - 2u = 1$. Then $y = 1 + 2x$. From (2.6) and (1.2), we have $p = 1 + 2^{x+1}$ and $z = (1 + 2^{x+1})^x (1 + 2^x)$, respectively. This implies that $(p, q, x, y, z) = (1 + 2^{x+1}, 2, x, 1 + 2x, (1 + 2^{x+1})^x (1 + 2^x))$.

Subcase 2.2: $y - 2u > 1$. Then $\min\{p, 2, y - 2u, x + 1\} > 1$. By Theorem 2.1, we get $p = 3, y - 2u = 2$ and $x + 1 = 3$. Thus $x = 2$ and $y = 6$. From (1.2), we have $z = 45$. Then $(p, q, x, y, z) = (3, 2, 2, 6, 45)$. \square

By Theorem 2.4, we have the following corollary:

Corollary 2.5. *Let p, q, x, y, z be non-negative integers with p and q distinct primes. If $q = 2$ and y is even, then the Diophantine equation (1.1) has only one non-negative integer solution $(p, q, x, y, z) = (3, 2, 2, 6, 45)$.*

In the third part, we find out all non-negative integer solutions of (1.1) when $p \neq 2$ and $q \neq 2$.

Theorem 2.6. *Let p, q, x, y, z be non-negative integers with p prime and $p \nmid q$. If $p \neq 2$ and $q \neq 2$, then the Diophantine equation (1.1) has non-negative integer solutions*

$$(p, q, x, y, z) \in \{(3, q, 0, 1, 2)\} \cup \left\{ \left(p, \sqrt[x]{\frac{p^{y-2x}-1}{2}}, x, y, p^x + p^x \left(\frac{p^{y-2x}-1}{2} \right) \right) : \sqrt[x]{\frac{p^{y-2x}-1}{2}} \in \mathbb{N} \right\}.$$

Proof. Since p is prime, $p \nmid q$ with $p \neq 2$ and $q \neq 2$, it follows from (1.4) that $u = x$ and so

$$p^{y-2u} - 2q^x = 1. \quad (2.7)$$

Case 1. $x = 0$. Then $u = 0$. From (2.7), we get $p^y = 3$. This implies that $p = 3$ and $y = 1$. From (1.2), we have $z = 2$. Then $(p, q, x, y, z) = (3, q, 0, 1, 2)$.

Case 2. $x > 0$. From (2.7) and (1.2), $q^x = \frac{p^{y-2x}-1}{2}$ and $z = p^x + p^x \left(\frac{p^{y-2x}-1}{2} \right)$, respectively. Then $(p, q, x, y, z) = \left(p, \sqrt[x]{\frac{p^{y-2x}-1}{2}}, x, y, p^x + p^x \left(\frac{p^{y-2x}-1}{2} \right) \right)$. \square

Remark 2.7. *By Theorem 2.6, we see that $(p, q, x, y, z) = (3, 11, 2, 9, 1098)$ is a non-negative integer solution of (1.1).*

Corollary 2.8. *Let p, q, x, y, z be non-negative integers with p and q distinct odd primes. If y is even, then the Diophantine equation (1.1) has no non-negative integer solution.*

Proof. Since y is even, by Theorem 2.6, we see that $q^x = \frac{p^{y-2x}-1}{2}$. Set $y = 2k$, for some non-negative integer k . Then $q^x = \frac{p^{2k-2x}-1}{2} = \frac{(p^{k-x}-1)(p^{k-x}+1)}{2}$. Since p is odd, $p^{k-x} - 1$ and $p^{k-x} + 1$ are even and so $2 \mid q$, a contradiction. \square

By Corollary 2.3, 2.5 and 2.8, we have the following theorem:

Theorem 2.9. *Let p, q, x, y, z be non-negative integers with p and q distinct primes. If y is even, then the Diophantine equation (1.1) has exactly two non-negative integer solutions $(p, q, x, y, z) \in \{(2, 3, 1, 6, 10), (3, 2, 2, 6, 45)\}$.*

Acknowledgment. The authors would like to thank the referees for their suggestions and comments on the manuscript. This work was supported by Research and Development Institute and Faculty of Science and Technology, Thepsatri Rajabhat University, Thailand.

References

- [1] M. A. Alabbood, On some exponential Diophantine equations, *Int. J. Math. Comput. Sci.*, **17**, no. 1, (2022), 431–438.
- [2] S. Asthana, M. M. Singh, On the Diophantine equation $3^x + 13^y = z^2$, *Int. J. Pure Appl. Math.*, **114**, no. 2, (2017), 301–304.
- [3] J. B. Bacani, J. F. T. Rabago, The complete set of solutions of the Diophantine equation $p^x + q^y = z^2$ for twin primes p and q , *Int. J. Pure Appl. Math.*, **104**, no. 4, (2015), 517–521.
- [4] N. Burshtein, On solutions of the Diophantine equation $p^x + q^y = z^2$, *Annals Pure Appl. Math.*, **13**, no. 1, (2017), 143–149.
- [5] R. Dokchan, A. Pakapongpun, On the Diophantine equation $p^x + (p + 20)^y = z^2$ where p and $p + 20$ are primes, *Int. J. Math. Comput. Sci.*, **16**, no. 1, (2021), 179–183.
- [6] P. Mihăilescu, Primary cyclotomic units and a proof of Catalan’s conjecture, *Journal für die Reine und Angewandte Mathematik*, **572**, (2004), 167–195.
- [7] R. J. S. Mina, J. B. Bacani, On the solutions of the Diophantine equation $p^x + (p + 4k)^y = z^2$ for prime pairs p and $p + 4k$, *European J. Pure Appl. Math.*, **14**, no. 2, (2021), 471–479.
- [8] A. Siraworakun, S. Tadee, Solutions of the Diophantine equation $p^x + q^y = z^2$, where $p, q \equiv 3 \pmod{4}$, *Int. J. Math. Comput. Sci.*, **18**, no. 1, (2023), 131–136.
- [9] B. Sroysang, On the Diophantine equation $5^x + 7^y = z^2$, *Int. J. Pure Appl. Math.*, **89**, no. 1, (2013), 115–118.
- [10] W. Tangjai, C. Chubthaisong, On the Diophantine equation $3^x + p^y = z^2$ where $p \equiv 2 \pmod{3}$, *WSEAS Trans. Math.*, **20**, (2021), 283–287.